§4-8 Wanslqn‘%no) Cof Seqfingb ‘)733. Functions

Tdenhby e \Qnmﬁ:

amplidoude period Xfi';ﬁf‘é‘,(;m phace shift

Q@) Y= cos(fx*- ‘7’53

Q) ;: sSin(x+mM+3

© 'k 3 eos (=)= 1.

@ = ten (1942

5) 'F]‘= .55'm<“};") %10

Skeld\ ‘the 'CQ"MU'MOS.
Y= cos(x-m) DW= Akn(t-am) §) y = cos (x-% )+ |

@ ytn(x=)=1 @yeasn(Fy) @y-Bees()

Qamp\e‘l@'.

@ Wrile an equation ot ‘e '|ch3e, @ Ldde an eguation for Yae '\mqge of
of Yy = eos %’ vnder a phase shilt la =dan . oaphed below,
of - s, T ';

N

¥
: )
<t 14 — ¢
. =
- VA
. |
, " ;
! I
. ’ i
’ T i
I
! . |
, ~ ,



Wride an e vation SLor Yhe Lonction T

DR
Qé_’_(i}év__'_} @ Wmﬂ)
N i '

=3 qu;

N

°)

Match the equahion with Yhe %mph
@ H: N (’)('}’37/3) @ la = Sin (9(-’%_) @ ‘a_-:s'mfx..l

(_Oi\ 2 l y (.k;)

My "ﬁ

-A ~Z. ) g

@_‘Phe helopt \n Leet ol Whe hde 1n e, harbor is aiven b h= ®5c ﬁ.é
where t 13 \\?ﬁf'&'mde 1-2 hours alder hioh t1de. 9" 'j (" )+ 19 |
p ot o t"o, ={ and =3 wlﬂ"hﬁl}é q CQ[CU[ 15 ) A
@ f‘l:gi :\M?e rt £s o/ec.in;nta( QnSwe-f“ vsing Your calwlq:fr Cusing etact vales |
@ Lhat s the minimum h-elo)\fv}? Hlew) mum heﬁo_)k‘f? F';gufc ouvt wirovk
GCQICl{lCH‘Dr‘, %e,p‘\ c_m@]rm w‘.\,‘—y\ | 5rqpk_ madle on your cale uqu‘or. Eegpro/
the i ndow and gleeten -
(@ 4t what fmes in a 24 howr period will Yhe minimom heioyht secvr

Show how o £ind with out vsing & calevlotw~ and Yhen conlirm log
avalyzing your 3?‘&)0"\.

@1) Whete ate Yhe asumploles of Yhe parent Gmction y=an 1 7 Lokt is Vhe
Coman « ranﬁcz F&u ate ‘these ofiflerent Gom e parent funchons 2@530%

and 2=cos.g,
@ S"mpﬁcuj Rewrre as %k ' TE (%, 3-5),
—’%2' - @ ax-4 wnie the eooucfﬁom Sor this

Jrans Lormation on ‘j-: s’m x{.

&) «

- % | @ dx- M
%5




